Math 200 - Quiz 1 Name keg
January 18, 2012 Score

Show all work to receive full credit. Supply explanations when necessary.

1. (5 points) Consider the following problem.

A rectangle is 7in longer than it is wide. Find the area of the rectangle if its
perimeter is 38in.

(a) Describe any two specific, significant things that you would do to understand this
problem.
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(b) Suppose Julia’s approach to solving the problem involved first finding the width
of the rectangle. Which strategy is she using?
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(c) In addition to the strategy that Julia used, which additional strategy would you

probably use to solve this problem? K= w+ 7
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(d) When Julia finished solving the problem, she stated her solution as follows: The
length of the rectangle is 13in, and the width is 6in. What would you say about
Julia’s solution?
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(e) In what sense is Julia’s solution correct? What is the correct solution of the
problem?
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